ABM COLLEGE,JAMSHEDPUR
COMMERCIAL ARITHMETIC (CA)
X! - INTERMEDIATE INTERNAL EXAM, 2020

Full Marks : 50 Time: 1.5hrs.
= fAder (General Instruction)
) & 50 9g—fadeda uea &1 (Thereare 50 multiple choice Questionsin all)
i) <t gye rfard 2 1 A% U 1 3@l &1 21 (All questions are compulsory. Each question
carries1 marks)

i) yA® 9 A IR fa®deu (g, b, c 3R d) f&& 1w & (Four options(a, b, cand d) aregiven for
each question).

1) 36.0052 # foar Aid G@aTg © (How many significant figures are therein 36.00527)

a 2 b 4 0 6 d) 7
2) 89:005 < 0-00634 &I AP wU & (The standard form of 89-005 + 0-00634 is)
a) 89005 = 634 b) -089005 + 634 C) 8-9005 = -000634 d) 89005 = 634

3) MU &7 JaT = (The currency of Japan is-)
a) dis (£) b) W (Franc) c) A9 (Yen) d) SR ()

4) TP SO a3 BT Hod . 7.50 © I 101 Toid a3l BT e 8T (The price of one dozen articleis
Rs. 7.50, then the price of 101 dozen articleswill be:)

a) Rs. 775.50 b) Rs. 767.50 c) Rs. 757 d) Rs. 757.50
5) 15 BT 150% + 75 BT 75% =7 (150 % of 15+ 75% of 75="?)
a) 75.75 b) 73.125 ¢ 135 d) 281.25
6) AT 63MM4 UI P IRER 8 3R 6 VI 12 R & IRE & dl 30 MM b= AR R © (If 6
Mangoes =4 Apples, 6 Apples=12 Oranges, then 30 Mangoes= Oranges)
a 40 b) 30 c) 20 d) 50

7) 3. 2000 3T eI B Ub Y& BE Bl . 1700 H 991 TAT| g &I <% i1 (A suitcase of Rs. 2000
wassold for Rs. 1700. Therate of discount is:)
a 15% b) 20% Q) 25% d) 30%

8) HNY 7 Ed | . 3500 ARIRY &6 R SR ol | 4 9§ @& 91€ A9NY 76 BT 5. 4200 19

PHRAT © A1 &1oT dY g% 8 (Manish borrowed Rs. 3500 from Raghav on simpleinterest. After 4 years
Manish paysback Rs. 4200, thentherate of interest is:)
8 4% b) 6% Q) 5% d) 7%

9) Ud Afdd 320 IMHT ®I 400 M BT ANTT IR 99T & | SFDI o™ DT Ufed &< 2¢ (A man sells
320 mangoes at the cost price of 400 mangoes. Hisgain percent is:)

a 10% b) 15% c) 20% d) 25%
10) IfE SR FHE 1 A AR TS BT AR Ahdfg T S AR A ... BT & (When therateis
samethentheamount of smpleinterest is............... compared to amount of compound interest :)
a) ®H (Less) b) 3ifere (More) ¢) RIeR (Equal) d) f¥Ea (Indefinite)
11) 8% & &X | ®. 500 BT 2 dY & foly ARIRYT &1of R ? (The simpleinterest on Rs. 500@8% for 2
yearsis:)
a Rs. 100 b) Rs. 800 ¢) Rs. 80 d) Rs. 40



12) U 9%] Bl g . 2.75 & Al . 1000 IK3N &1 97 & ? (If the price of L articleisRs. 2.75, the
priceof 1,100 articleis:)

a) Rs. 3025 b) Rs. 2700 ¢) Rs. 3025 d) Rs. 30250

13) If¢ A:B=3:4TaTB:C=8:98T AT A:B:C=? (IfA:B=3:4andB:C=8:9thenA:B:C=9?)
a 6:8:9 b) 3:32:9 c 9:8:6 d 8:6:9

14) 7:8::X :24% X &1 A © (Valueof Xin7:8::X :24is)
8 25 b) 27.43 0 21 d 11

15) 99.082 &1 HIF &I T¥McId ¥IF & Af~dhe 8 (The value of 99.082 correct to two places of decimal is)
a) 99.082 b) 99.12 c) 99.08 d) 0.99

16) 0.005389 x 4673.9 &1 HIF% w4 21T (The standard form of 0.05389 x 4673.9 will be) :
a 5.389x4.6739 b) 5.389x4673900 c¢) 0.000005389x 4.6739 d) 0.5389 x 467.39

R~ = 92 A.B.C _, R~ — D2 A.B.C _
17) afs A:B:C=2:3:48r ar B C A =7 IfAB:C=234then BeiE =7
a 8:9:16 by 8:9:12 c) 8:9:24 d 4:9:16

18) 20 #™ ¥ B BT 30 &7 H &R € I U BM BT 15 3M&AT &9 H HI? (20 men complete
awork in 30 days. How many dayswill betaken by 15 mento do asimilar work ?) :

a) 20 &9 (20days) b) 40 f&9 (40days) ¢) 60 f& (60 days) d) 8o f&d (80 days)

19) 140 T 30% = 140 BT ?% (30% of 140 = ?% of 840) :
a 5 b) 15 ) 24 d) 60
20) A U 9] BT I . 21.76 ©, I 87 IXG3AT &I o & — |If the price of one articlesis Rs. 21.76,

then price of 87 articlesis) :
a 1893.12 b) 189.312 c) 18.9312 d) 18931.2

21) IfE 10 fHIT T HAT ®. 80 © AT 16.5 fHIT &I Hwd B8R (If the price of 10 kg. of onionisRs.
80, thenthepriceof 16.5 kg. will be) :
a Rs 132 b) Rs. 128 ¢) Rs. 1320 d) Rs 132

22) A 1 SfeR ($) =5.04%®, 126 b = 1Uie (£), Rs. 100 = 5.8 Ufe (£), AT Rs. 1000 & T &
forg Sfer ($) =z (If 1 Doller ($) = 5.04 francs, 12.6 Francs= 1 Pound (£), Rs. 100 = 5.8 (£), then

how many dollars ($) will berequired to pay off Rs. 10007?)
a) $145 b) $145 0 $252 d) $135

23) 5% HHRM "M & 91§ Ud AT B HIFd %, 9595 & | SHHT Adhal I &, (After deducting a
commission of 5% aradio costsRs. 9595. Itsgrossvalueis:)

8 Rs. 10000 b) Rs 10095 ©) Rs. 10100 d) Rs 9115.25

24) 10% BT T | . 9,000 TR TeATell DI <M 2 (The amount of brokerage on Rs. 9,000 at the rage of
10%is:)
a Rs. 900 b) Rs. 9000 c) Rs. 90 d) Rs.909.5

25) AT JAed . 7,500 &, TSI 6. 1,500 © A1 JfC AT BT &R 4% d1ND 8 aF FA7 S1d Doy (If
the principal isRs. 7,500, interest isRs. 1500, final thetime of therate of interest is4% per annum:)
a 3aY¥ (3years) b) 4 a9 (4years) 0 5 a¥ (5years) d) 6 9Y (6years)

26) ¥ &7 R 5% it SR A 2 99 & AR TSl qAT Ahgls TS Pl AR B 21 2| o7

(FTe) =T BT (The difference between the smpleinteret and compound interest on acertain sum of
money for 2 yearsat 5% p.a iIsRs. 21. Findthesum:)
a Rs. 8,000 b) Rs. 8,000 ¢) Rs. 4.200 d) Rs. 4,800




27) U& AfHT b FhHe ® 1,00,000 H WA € 3R %, 1,25,000 H 25% BT <HR 99 <dT & | IHH
@™ ® (A man purchasesascooter for Rs. 1,00,000 and sellsit for Rs. 1,25,000 after allowing a discount
of 25%. Hisgain percentis:)

a 25% b) 14.25% c) 62.5% d) 5.62%

28) U& AR o Bl T 400 H HA HRAT & T 20% I o™ R 99 a1 2| 81 BT [dhd I ©
(A person purchased awatch of Rs. 400 and sold it at again of 20% of the selling price. The sdlling price of

thewatchis:)

a Rs. 300 b) Rs. 320 c) Rs. 440 d) Rs. 500
29) 549701 P TIEVIR & A~TdHe ad B (Express549701 correct to tenthousand.)

8 55 b) 54 ) 55(10)* d) 5497

30) Hqpfaa falr ¥ 7863486 X 52.9843 BT AN &R & Ai~dbe s8N (The value of 7863.486 x 52.9843
by contracted method correct to thousand is:)
a 4x10 b) 42x 10° ) 416.5x 10 d) 417 x 10°

31) 1005.2 =~ 10.005 BT AH TIFAT & b 3 dP Yg dIerg (Find thevalue of 100.52 + 10.005
correct to one placesof decimal :)

a8 10.04 b) 1004.7 ¢ 1005 d) 100.4
32) 112 3R 792 KLATH Urd & (Theminimumratio of 112 and 792is: )
a) 28:198 b) 14:89 Q 1:7 d) 2:14
33) 60 HHUS TG 1 ©TT &I U = (Theratio between 60 second and 1 hour is: )
a 1:4 by 1:60 c 1:5 d 1:70
34) IfE 4 fHaAMIER =2.485484 HIeT &, T 248.5484 Hid & (If 4 km= 2.485484 miles, then 248.5484
milesis:)
a) 40km b) 4000 km c) 40.40km d) 400km

35) afg 42 TR} 28 HAT & xTER BT 3 70 WY 30 €IS P SREX & Al 70 T fha" €€ & aRI&R

BRI 2 (If 42 cowsare equal to 28 buffaloes and 70 buffaloes are equal to 30 horses, how many horses
areequal to 70 cows: )

a8 40 b) 20 ¢ 30 d) 10
36) S &I 9aT & (Thecurrency of Iragis:)
a) f<ed (Dirham) b) AR (Dinar) Q) Raret (Riyd) d) I (Peso)

37) 31 H@ 7:8 IuId H B | ¥ UAS H 3 Sie feam Wy, A7 SHST IruTd 8:9 B Sl 7 | Wy '
(Two numbersareintheratio of 7:8. If 3isadded to each of them, their ratio becomes 8:9. Thenumbersare:)

a) 14,16 b) 24,27 Q) 21,24 d) 16,18
38) 0.216 IXTER 7 (0.216isequal to )
8 21.6% b) 0.2216% Q) 2.216% d) 0.216%

39) TP FHHANI (U I BT 5% BR GBI & | Al g U BT 80% T PR & 18, IHD URT 3141

W1 % 190 99T 8 A1 &R W Yd BT I9HT a9 1 & (An employee pays 5% of his salary astax. I after
spending 80% of theremainder, hehasRs. 190 left, what ishis salary beforetax :)
a) Rs.800 b) Rs. 1,000 ¢) Rs. 1,500 d) Rs. 1,900

40) 99T BT FRAT ST DI RTEH I g9 8% Uy &1 &% F IR 8 ofar & (Find the numbers of
yearsin suchasumdoublesitself at the rate of 8% per annum:)
a) 117, b) 12Y, o 24, d) 13Y,



41) oo+ |99 9 5% P T ¥ B 850 oG &1 Hsad % 935 & SIRATT 2 (Inwhat time Rs. 850
amount to Rs. 935 at 5%?)

a 3a¥ (3years) b) 4 a9 (4years) 0 2 ¥ (2years) d) 5 a9 (5years)
42) 11% & X ¥ 2000 B fdmg IR HHIIE 8T 2 (Commission on asale of Rs. 2000 @ will be:)
a Rs 200 b) Rs. 220 c) Rs. 202 d) Rs 110

43) ®3 I AR 16T IR 3 a8 § . 390 iR 5 qu7 H . 450 B @71 21 98 o4 2 : (A certain sum
of money at ampleinterest amount to Rs. 390in 3yearsand Rs. 450in 5 years. Thesumis:)

a Rs 100 b) Rs. 200 ¢) Rs.300 d) Rs. 400

44) 5% dT¥dh TSl BT SR I 6. 400 BT Thdlg ATl 2 TN H . e B8R ? (The compound
interest onRs. 400 @ p.a. for 2yearswill beRs. ...........ccccue.e..e. ):
a Rs. 45 b) Rs. 40 ) Rs. 41 d) Rs. 30

45) TP Usic BT 6. 10,000 BT &b TR A . 200 HHYE HeadT 81 o @1 ¥ & (An agent gets
commissonwasRs. 200 onasae of Rs. 10,000. Therate of commissionis:)
a) 3% b) 2% 0 4% d) 5%

46) TH ISAT . 220 H 99 W F 10% BT A BT & | 20% BT ™ UM & folT IqHT AT Hed
BT A1faU— (A radio sold for Rs. 220 at a profit of 10%. At what selling price should it be to given 20% profit.)
a Rs 240 b) Rs. 210 c) Rs.250 d) Rs. 220

47) 6% Thdlg TS P &R W BIg &9 2 I H . 674.16 Bl ST & | & S DI ? (A sum
becomes Rs. 674.16 in 2 years @6% compound interest. Find the sum)

a Rs. 300 b) Rs. 400 ¢) Rs.500 d) Rs. 600
48) afe 5:X =Y:3ar XY @t — (1f 5:X = Y:3, thenfind XY)
a 15 b) °/, o d 5
49) HRIRY &1l = ? (Simple Interest = ?)
PXRXT PxRxT 1 X100 X 100
8 PXRxT b P+ (Ppt) g M2 ) AR

50) T STl &I HAMCT T Hed & — (Theequality of two ration is called :)
a) 31U (Retio)  b) e (Chain) c) arura (Proportion)
d) SAf~ddeaor (Approximation)



